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Band N

Test 1

Part | Listening Comprehension

Section A

Directions; In this section, you will hear 10
short conversations, At the end of each conversati-
on, a question will be asked about what was said,
The conversation and the question will be spoken
only once, After each question there will be a
pause, During the pause, you must read the four
choices marked A), B), C)and D), and decide
which is the best answer, Then mark the correspo-
nding letter on the Answer Sheet with a single line
through the centre,

1. A ) The bus has broken down and will not
arrive,
B ) The bus was in a terrible accident,
C) The bus will probably arrive at 9115,
D) The bus may arrive tonight, but the man
isn’t sure,
2. A) The man can correct his mistake later,

B ) The man answered two questions
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correctly,
C) The man can’t change his answer now,
D ) The man didn’t begin the test on time .
. A)John’s brother got them,
B) They’re still at the laundry,
C) John forgot them at home,
D) They were picked up on Tuesday,
. A)In April, B) In May.
C)HIa June D) In July,
. A) He was tired, ‘
B) His appointment was changed,
C ) He had a flat tire,
‘D) His bicycle was stolen,
. A) Her family speaks English,
B ) she likes English, ’
C ) She can not forget her English,
D) She lived in America until she was 12,
_ A ) Bob is too tired to study any more,
B) He told Bob not to study late at night.
C) He had often advised Bob to study.
D ) Bob didn’t hear the alarm,
. A ) Mail an invitation to the Smiths,
B ) Obtain clothing for the Smiths.
C) Have a party for the Smiths,
D) Ask the Smiths to tell her where they
live, - '
. A)8:50, B)7:30, C)8:;00, D)Bs:15,
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10. A) By taxi. B) By bus.
C) By train. D ) On foot.
Section B
Directions: In this sectiom, you will hear 3
short passages. At the end of each passage, you
will hear some questions. Both the passage and the
questions will be spoken only once. After you hear
a question, you must choose the best answer from
the four choices marked A), B), Cland D).
Then mark the corresponding letter on the Answer
Sheet with a single line through the centre,
Questions 11 to 13 are based on the passage
you have just heard,
11, A ) The American young people usually like
foreign food.
B) Americans love to eat hamburgers when
they go abroad, | '
C) Children miss hamburgers when they are
abroad,
D)Roadside restaurants only sell hamburgers.
12, A) Thousands of hamburgers.
B ) Millions of hamburgers.
CYA milli:on of 'hamburgersl.
D ) Billions of hamburgers.
13. A ) Quite a lot of roadside restaurants sell
~ hamburgers,

B ) Hamburgers can be ordered through a
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window in the restaurant,
C) A roadside restaurant is usually small,
D) The American idea of a good meal is a

hamburger.

Questions 14 to 16 are based on the passage

you have Jjust heard,

14. A)In Los Angeles. B ) In Detroit,

C)in New York, D) In San Francisco.
15. A ) Looking for jobs.

B) Doing cleaning work.,

C) Wandering and looking in garbage cans

for food.

D) Begging or gambling.
16. A ) Shortly after the traffic accident,

B) When he got married,

C) Shortly before he died,

D) At the age of 39.

Questions 17 to 20 are hased on the passage you
have just heard,

17. A ) No fuel. B)Ice on the wings.
C) Engine trouble, D) No food,

18, A ) Near a village. B ) Near an airport.
CHYOn the water, D) Far from help,
19, A ) Many hours. B ) One day.
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C) Two days. D) Three days.
20, A) A doctor. B ) Supplies.
C ) Mechanics. D) A nurse.

Part I Reading Comprehension

Directions: There are 4 passages in this part,
Each passage is followed by some questions or unf-
inished statements, For each of them there are
four choices marked A), B), C)and D)., You
should decide on the best choice and mark the
corresponding letter on the Answer Sheet with a
single line through the centre,

Questions 21 to 25 are based on the following
passage:

Just outside London there lived an old father
who dearly loved his only son, Accordingly, <hen
the boy was a youngster of some eighteen years,
the old man sent for him and, with a benevolent
glimmer of his horn-rimmed (4 M4EHEM )spectacles ,
said, “Well, Jack, you are not done with school.
No doubt you are looking forward to going to the
university” .

“Yes, Dad, I am, ” said the the son,

“You show good judgment, ” said the father.
“The best years of one’s whole life are unquestio-
nably those which are spent at the university.
Apart from the vast honeycomb ( EE¥EHI 5} ) of
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leanring, the mellow voices of the professors, the
venerable gray buildings, and the atmosphere of
culture and réfinement,there is the deiight of being
in possession of a comfortable allowance. ”

“Yes, Dad, ” said the som,

“Certainly nothing in the world is more de-
lightful than being at the university” said the
father, “The springtime of lifet Pleasure after
pleasure! The world seems a whole dozen ofsters,
( 4t#5)each with a pearl in it, Ah,the university.
However, I’m not going to send you there, ”

“Then why the hell do you go on so about
it? ” said poor Jack, - '

“Because 1 don’'t have the money, " said the
old father. ” Still, T wish you could become a uni-
versity student, 7
21, When the father said that he was not going

to send his son to the university, the latter’s

immediate reaction might be -

A ) contempt. B) relief.

C)disappointmet. D)surprise and anger.
22, Which of the following statements is not

true?

A ) The father ¢ould not afford to send h1s

son to -college.

B ) The son longed for university life.

C) The father looked very KkKind,
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23.

24,

25,

D) The university life is wonderful because
there will be pleasure after pleasure and
no toil of learning. ‘

What is the most appropriate title of the

passage?

A ) Father & Son '

B) The Atmosphere of Culture and Refinem-
ent

C) Ah, the University

D) How to Become a University Student

As used in the first paragraph, the phrase

‘sent for’ means

A called in. B ) sent out.

C ) sent off. D ) sent forth.

What can be concluded from the passage?

A ) The father loved money as he loved his
life.

B) The son took no interest in going to uni-
versity.

C) Young people prefer university life simply
because there is the delight of being in
possession of a comfortable allowance.

D) The father was willing to help his son
but unable to do so.



Questions 26 to 30 are based on the following

passage:

TOP GARAGES LTD.

DESCRIPTION Oor WORK US$ CI—IARGES

Labour Charges

Engine complete overhaul

Regrind crankshaft & rebore
( H) cylinder

Remove & reinstall air
conditioner

Refill freon { A5 ) for air
conditioner |

Material Supplied ‘

I
|
|
\
|
|
|

Piston sub-assembly w/pin
Piston ring set

Bearing set-crankshafi

Bearing set-connecting rod

[ )

Washer set thrush
Gasket set-engine overhaul
Chain sub-assembly

Tensioner assembly

Timing gear
Water hose

e
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283,
90.

80.

27,

51.
27.
.00
.00
.00
.00
.00
.00
.00

00
00

00

00

00
00



4 Spark plug 2.50
1 Contact point 2.80
1 Air filter 5.20
1 Fuel filter 3.00
1 Point set washer 2.00

TOTAL 630.00

{

\
L
|
|

Figl.1 A motor car repair estimate

When you take your car—or, indeed, any piece
of machinery-—to be repaired, it is generally an
advantage to ask for an estimate. You should make
sure an estimate is fully itemised so that you can
check it afterwards. Then you cannot be charged
for unnecessary work. Sometimes the repair cannot
be sccurately estimated until some parts have been
dismantled ( #¥H1 ). If so, authorise this amount
of work first and ask for an accurate estimate after
it has been done, '

Wages and methads of costing differ from gara-
ge to garagze. Some garages pay their mechanics a
flat rate per hour and pay time and a half of
overtime, Cthers add a fixed percentage per hour
to the hourly rate. They pay for the overtime at
the same rate;

Garages which have an incentive scheme pay

the mechanic a part, usually thirty per cent or th-

—_—0



irty-three and one-third per cent, of what the cus-
tomer is charged. They don’t usually pay attention
to the time the mechanic has taken., The charge to
the customer is based on the manufacturer’s sugges-
ted time-schedules for work. For example, if the
time allowed is three hours and the mechanic takes
two and a half, the customer is charged for three
hours. The mechanic receives thirty per cent of the
total amount charged, not thirty per cent of the
charge for the two and a half hours he actually
worked on the job,

Labour charges to customers cover not only the
cost of wages but also overheads, To get the cost
per hour of the overheads, divide the cost of ruan-
ing the workshop itself by the number of hours of
work available. Then add to this an amount for
profit.

26. According to the passage, why is it impor-
tant to obtain a fully itemised estimate?
A) You will always obtain a lower price.
B) You will get better service.
C) You will not have to pay for unnecessary
work,
D) You will not have to pay any overtime,
27. According to the passage, how are mechanics
paid?
A) At hourly rate.
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B ) According to the skill needed.
C)In a number of different ways.
D) By a percentage of the total overheads..
28. According to the passage,which of the follow-
ing does the customer not have to pay for?
A ) Labour charges. ‘B ) Overheads,
C) The estimate. D) The profit.
29. According to the passage, how can a mecha
nic estimate the cost of a job?
A ) He is unable to estimate it.
B ) He can charge a percentage of the total
workshop costs, SREE
C) He can use the manufacturer’s schedules,:
D) He can ask the customer.
30. What is the most appropriate title of -the
passage?
A ) Labour Charges to Customers
B ) Estimating Repairs
C) Top Garage LTD
D) A Motor Car Repair Center

Questions 31 to 35 are based on the"following

passage:

If you are like most people, your intelligence
varies from season to season. You are probably a
lot sharper in the spring than you are at arny other
time of the year. A noted scientist, Ellsworth
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Huntington ( 1876—1917 ), concluded from other
men's work and his own amoug peoples in
different climates that climate and temperature
have a definite effect on our mental abilities.

He found that cool weather is much more favo-
rable for creative thinking than is summer heat,
This does not mean that all pesople are less inteli~
igent in the summer than they are during the rest
of the year. It does mean, however, that the men-
tal abilities of large numbers of people tend to be
lowest in the summer,

Spring appears to be the best period of the ye-
ar for thinking, One reason may be that in the sp-
ring man’s mental abilities are affected by the
same factors that bring about great chaunges in all
nature,

Fall is the next-best season, then winter. As
for summer, it seems to be’ a good time to take a.
long vacation from thinking!

31. According to the selection, your intelligence
probahbly
A ) stays the same throughout the vear.
B varies from day to day.
C)changes with the seasons.
D ) changes from year to year.
32, Huntington basd his conclusions on

A) records of changes in his own intelligence.
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